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Instructions ’

1)

1]

: Isory.
All questions are compu . . o
Thig question paper has {wo sections ‘A’ and ‘B’

Section ‘A’ contains 20 multiple choice type questions of 1 mark

& cach that has to be answered on OMR Answer Sheet by darkening

iv)

v)
vi)

completely the correct circle with blue or black ballpoint pen.
After giving answer on OMR Answer Sheet do not cut or use eraser,
whitener etc.,

Section ‘B’ contains descriptive type questions of 50 marks.

‘Total § questions are there in this section.

vii) In the beginning of each question it has been mentioned how many

parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

xii

Start from the first question and go up to the last.question. Do not
waste your time on the question you cannot solve. |

If you need place for rough work, do it on left page of your answer
book and cross (. x ) the page. Do not write ‘the solution on that
page. : _

Do not rub off the lines constructed in a question of construction.
Do write the steps of construction'in brief, if asked.

1) Draw neat and correct figure in solution of a question wherever it

is necessary, othe in"its absence the solution will be treated
incomplete and ng.

RO - -

@$

Section - A

( TEfemhedta we )

( Multiple Choice Type Questions |

1. %@ﬁ?ﬁm@mﬁ@ﬁ@%ﬁﬂﬁa@wﬂf@rﬁﬁmﬁqmm_

(A)

(C)

1. The maximum number of tangents drawn from an extern

UF B)

GiE| (D) <R |

al point tg 4

circle will be

(A)  one (B) two
(C)  three (D) four
7000/70 1
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A 3 (B) -%
© 7 . D 8
The distance of point ( 7, 3 ) from y-axis will be
@) 3 ® 7
< 7 (D) 8
¢ psinB=qgcosd @ cosec 8 H WH B
2 2 2 2
) Y2 *9 | YT
q p
(¢ £ D) -2

:
:

p’+q’ P2 + q2
If psinB=gcos6, then the value of cosec 6 will be

:
.

p’+q° p2+q2‘

W A B 1L
© - (D)
.Jp”rq2 & Vp*+q’

4:  tan 1°tan 2° tan 3° ;2;‘{,&1 887 tan/89° %1 H &M
- ©
Lﬁl 0 §§§> (B)

Sl

—t -

(C) (D)

1
_ 2
4. The value of tan 1° tan 2° tan 3° ... tan 88° tan 89° will be

(A) B) L

| 2
| _
2 D) 1

o

©

5. . afe gdiey 3x2+5x—q=0%t@mg,?‘hqﬂmﬁn

25
N o ® -5
9
© 35 o) -42
7000/70
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. 2 _ )
5. If the roots of equation 3x2 +5x-g=0 are equal then the value of g will p,

. 25 °
25 _25
a - - B -3
9 ) 12
6. wAR UG - 62, - 59, ... 7, 10 %1 MReal 9§ B
(A) - 34 B) -32
(C) =30 (D) -28 1
6.  The cleventh term of the A.P. - 62, - 59, ... 7, 10 will be
(A) - 34 B -32
(€ -30 (D) -28 - ]

7. 3 P(E)=0-05 ' P(E) 1 4H &M

(A) 092 (B) 0:93

(C) 0-94 - (D) .“0'95 ' 1
7. 1If P(E)=0-05, then the&alue of P(E) will be |

(A) 0-92 &g\\ (B)  0-93

(€ 094 Q\@* Q. 095 "1

8. UMD 3?{@3?!15 mﬁi?fwﬁéﬁ@ﬂaﬂmﬁwﬁﬁwﬁ%lﬁa%
A 8 ) i v

(A)

o

(B)

ol

(C)

e oojw

N |—=

(D) :

8. A bag contains 3 red and 5 black balls. One baIl is drawn o

ut at r.
The probability of it being red ball will be andom.

3
Ay = B 2
8 (B) 5
c 2 1
D =

5 (D) 3 |

~ 7000/70
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Rz § DE| | BC, @ CE i 49 grft

9.
A
1-3 gt 1-5 qft
D E
3-9 ot
B C
a) 553 B) 5033
(€C) 4-8 &t (D) 4-53d | 1

9. Inthe figure, DE| | BC, then the measure of CE will he

A 55em & AB)._)5:0cm
N
(C) 4-8cm P (D) 45cm 1
10. @ & AMNL aag@@f? W/M = £Q = 70°, MN = 3 8, ML = 4.5 @,
PQ=2WW%R=3ﬁTﬁ,?hﬁW%1ﬁ§aﬁ‘a—asﬁm

P
2 wHft \
_ Q 73?0 EI
(A)  ANML ~ AQPR (B)  ANML ~ AQRP
(©)  ANML ~ APQR (D) vl d g

7000/70
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10. In the figurc.r in AMNL and APQR, <M = £Q

will be
M
P
2 cm
A70°
N R
. Q 3 cm _
(A)  ANML ~ AQPR - {(B)  ANML~AQRP |
(C)  ANML ~ APQR (D)  None of thesc 1
1 =
1 1 - .
L. = ol =8 % i &1 g8 g
A) I 2 '
(A) 3 & (B) -j:@tﬁ 4
I |
© 3 g (D) ¢ [t 2 ‘ 1
1. surface ameter e
| The surface of a spheré%@mmeter -éw cm will be
W Eem? S o2
~ i Z $
©)  Fem® D) 7 em? 1
12. 6 8l Brewr & g% w T ¥ w
30° %1 ®I% A=A e 2
I
o a1 $ 919
T
@ 7 B 2
. .
‘ 1
12, An arc of a circle of radius 6
¢ 5 '
The measure of ¢ : - Su.btends an angle of 30° at the centre
orresponding arc will be '
(A} L em 4
c) =
2. tm D) nem
7000/70 .1

6
=7O,MN=SCm

ML = 45 cm, PQ = 2 cm and QR = 3 cm. Then in the following Cot‘reci
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13. sﬁﬁﬁmaﬁﬁgﬁ%ﬁgwﬁmﬁm%@ PO, %% 0} 91 el Th W@

8 fag O W frewdt R1 3l 00 = 12 3, & po H wg Bvh

(A) 12 9w (B) 133 _

(C) 85 & (D) VIi9 &f 1
13. The tangent PQ of a circle of radius 5 cm meets at a point Q on the line

passing through the centre O, If 0oQ = 12 cm, then the mcasure of

PQ will be _ |

(A) .12cm (B) 13cm -

(C) 85cm ) VII9em - 1
14. HEHIAA 182 9Y1 78 HCF &M |

A 13 | B 26

(C) 28 | (D) 39 | | 1
14, The HCF of the numbers 182 and 78 will be

A) 13 (B) 26

(C) 28 (D) .~-39 1
15. @%ﬂq%m&nﬁﬁ@{é&ﬂﬁawﬁmﬁmmﬂtﬁﬁ A IGH

THIEH BF%d B &6 |

S o

(A) 548 ﬁn‘%&% (B) 564 B

(©) 566 nd % . . (D) 588 a2 o 1
15. The radius of the base of a cyhndcr 1s 3'5 cm. If its hcight be 84 cm, then

its curved surface area will be ' :

(A) 548mcm? (B) 5647 cm?

(C) 566 xcm? (D) 588 mcm? 1
16, 4%%@@@@%&%@@% 60° 81 ITHI Sa%e ghmr

(A) 6nadt?  (B) 8xad?

(o] %n@nﬁ 2 (D) 3 B 2 1
7000/7¢
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16. The angle of a sector of a circle of radius 4 cm is 60°. Its area will be -

(A)

(C)

6ncm2

8 2
—7n cm

3

(B)

(D)

Sncm2

2
3ncm

17. fgum @it x2 4 x-1=0 %1 fafemeat gm

(A)
(C)

17.  The discriminant of the quadratic equation x°+x-1=0 will be

-4
4

(B)

(D)

-9
2

A) -4 - (B) -5
C) 4 (D) 2 1
18. fqurd THier 1- 4x+ 4x2 =0 ¥ @l 1 AT B
(A) -2 ; (B) -1/
(C) 1 (D) .2 1
18.  The sum of the roots of the quadratic equation 1-4x+4x% =0 will be
. \) ‘
A) -2 N B -1
¥
€ 1 oL wo) 2 1
%Qm '
19. fFefefiga sl aea gm
a7 - a0 0-10 | 1020 | 20-30 30-40 40-50
SRR 4 7 5 8 6
(A)  24-62 (B) 2666
(C) 28-64 (D)  30-50 1
19. The mean from the following table will be
Class-interval 0-10 10-20 | 20-30 30-40 40-50 |
Frequency 4 7 S 8 6
(A)  24-62 (B) 2666
C .
(C) 28-64 (D)  30-50
1
TONN /7n
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20. Fefafea afoh @ mes of am |

REL 0-10 | 10-20 | 20-30 | 30-40 | 40-50
. - 8 6 11 18 6
@& 102 (B) 20-30
(C) 30-40 (D) 40-50 | 1

20. The median class of the following table will be

Class-interval | 0-10 | 1020 | 20-30 | 30-40 | 40-50

Frequency 8 6 11 18 6
(A) 10-20 o (Bj 20-30
(C)  30-40 (D) 40-50 1
GUE -F
Section - B
( ST Wy )
( Descriptive questions )
1. Wit @vg i -
(a) 3 fog(x,5 ~ﬁm(2,-3}%aﬁa_ﬁ§ﬂl7m%_;ﬁxmmm
ey« | o | 2
(b 3R fg 1,4],I{a,—-2)'3ﬂ'T(—_3,'16)@@%.. A o F 7+ 5 Fifvy o
O Padte Ll gy 2
(d) e T W9 @ meEE W i - | 5
- AT 0-10 | 10-20 [ 20-30 30-40 40-50
B AT | 6 | 9 20 15 9
o) wemait 92 aft 510 #1 LCM 7 Ffmy | :
0 fag *fﬁ"ﬂz % V3 % st dem 3 :
2

70007
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1.

2.

Do all the parts :

(a) 1f the distance between the points ( x, 5) and ( 2, - 3)is 17 units,

2
then find the value of x.

(b) If the points ( 1, 4) (a -2)and (-3, 16) are collinear, then find

2
the value of a.

1+sin8 cos( - 2secl. 9

(c) Prove: cos0 *T+sin0
(d) Find the median from the following [requency distribution : 2
Class-interval 0-10 10-20 | 20-30 30-40 40-50
Frequency 6 9 20 15 9
(¢) Find the LCM of the numbers 92 and 510. 2
() Prove that J3is an irrational number. 2
(a) Frafefya arfeflt @ age® Fm@ Hifd: 4
SIS SIS 0-10 | 1020 | 20-30 | 30-40 | 40-50
qIERAT ' 6 11 21 23 14
(b) firg Hifore fRifore A forg @ g0 w0 offeht et Yot o et W
Bt 2| | - .

(c) @WABC@WBCHEWDEW%%%AADC=ABAC
21 fog fifsm 6 ca?-cB.cp Bl .
(d) ifﬁaﬁﬁwﬁw%aﬁmuﬁngﬁwé@rwgﬂm%ﬁﬁ
T @ W WS 2 T R 98 HEH A Hifd

| 4
(© feam Tl 2x2 - 5x43-0 N 7 Fifdry
._ . 4
M MR o) $ ofmw 120 # 3R &%t 800 w2 2 & TER T sk
e 3 e e s e, <o @ 2 2, | |
- 4

7000/70
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Do any five parts :

(@) Find the mode from the following table : 4
Class-interval 0-10 10-20 20-30 30-40 40-50
Frequency 6 11 21 23 14

(b)  Prove that the lengths of tangents drawn from an external point to a

circle are equal. - 4
(€} D is a point on the side BC of a triangle ABC such that

ZADC = /BAC. Prove that CA2=CB _¢D. 4

(d) The sum of the digits of a two-digit number is 9. 9. times of this
- number is equal to 2 times the number formed by reversing the

digits. Find the number. - o . : 4

(€} Solve the quadratic equation 2x2-5x+3=0."" " 4

(f) If the perimeter of a ga'rden of area-800 m? is 120 m and its length is

twice the breadth, then find its length and breadth. 4
. N |
ﬁm%&aamﬁﬁvﬁﬂfrsagﬁﬁu 6
TS
27 3 * 3 6
§ .
_Yar
W AP H T 51@wﬁﬂm-ﬁﬁuﬁr®?@imeﬁm%m
14 3 18 3 o 6
Solve the following equations : .- | o | 6

RX"gY="2 F+5=¢

OR

Find the sum of 51 terms of an A.P. whose second and thirqg terms are

14 and 18 respectively. 6
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4. @W%#ﬂ@ﬁtﬂw?lrﬁm% YR 8 10 #ft Sl gt W AR a1 52 &

RIET F 3797 R HEW: 450 3R 60° B S F o {ra 6
o S

50 S R A DA ¥ @ 3 90 AR IR YR T I

45° H 60° 81 GW ! F=E y7ra Hifdy B 6

A flagstaff stands on a tower. At a distance 10 m from the tower the

angles of elevation of the top of the tower and ﬂagstaff are 45° and 60°

respectively. Find the length of the flagstaff. . 6
. . OR .

From the top of tower of height 50 m, the angle of depression of top and

bottom- of a pillar are 45 and 60° respectively. Fl:nd the heighi of the

pillar. 6

5. 15ﬁnﬁﬁwméaﬂaﬁﬁr§aﬂmaaqso°wwmﬁawﬂ%|agaﬁ(ﬁd

aﬂ@:ﬁ%&#awmaﬁﬁm n-314./‘173) o 6_.
\Q@anm

M%EWW%@@W@WWEQWW%
e A S5 10 3R e 1 B 3.5 At §, @

@@‘? | 3 g H 7 g
ETH T ) : 6
S. A chord of a cirele of radius 15 cm subtends an angle 60” at the centre
Find the area of mirior and major sectors of the circle, |
(n=314, y3=173) | | 6

OR

By taking out a hcrmsphcrc from both the ends of a wooden solid

cylinder, an item is formed. If the height of the Cyhnder is 10 cm and

radius of base is 35 cm, then find the total surface area of the itern 6

—_——
822(4) - 3,258,000
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